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Thc pomt (0, 5) hes on/in -

(A) 2™ quadrant
(L) x-axs

ﬁ’-‘?! (0, -5)=mi:
(A) e wquind

(C) - 38w

(B) 3" quadrant
o) y-axis

(B) mmﬂ

D) v-38 W




¢ ind the co-ordinates of the point which divides the line segment joining the Points
A (3, 5)and B (7, 9) in the ratio 2 : 3 internally - 12}
va fa & Frdvies i dif 3 fargail A (3, 5) 7 B (7, 9) @t e @ T 2
& = qum | i & )
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If the quadratic equation 9x* + 3kx + 4 = 0 has real and equal roots, then the

viaue of k1s +4..
6 = (), then the value of k

If x = 3 is a root of the quadratic equation x* — 2kx

1S 2.

|
O'X"‘-\-?skr{.ﬂa:() 5{;; - 4*74“

1 - 4x9xe =g ~t ¢
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_7 The distance between two points (0,0) & (x,3) is 5.

' Find the value of x /A-D - (;] (7(‘: 2 ‘)‘ X+ (32: 3'31

~ ?gguag%%g.s)tﬂauﬂiﬂsﬁl
. $(7'°) +(3e) =25 X = 63) t (0-P)
')(?‘ 9 - QS &g = q + Pz
2

If the distance between the points (4, p) and (1, 0) is 5 unit, then the valuc

| p1s 4
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If the zeroes of the polynomial x*+px+q are double in the
e value to the zeroes Zx‘-Sx 3, find the value of pand q

x2+px x?-5x- Qr
a}qa'gz b e oo

I 2 15 a root of the equation) x* + bx + 12 |= 0 and the equation x* + bx + g = 0 has

equal roots, then the value of g 1s

‘v , 1
' |
e C e+ 12-0mmmym 2 s wdliem ¢ by 4 g = 0 & gm v £
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4 + Qpt1R=0O | tbx g =0
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AP: &, 3,-2

Ié Q-

uestio :
‘ ' Find the sum o’ the first 22 terms of the AP : 8, 3, -2

an AP is4and common 1 47
1 2th term of the A P1s

a) If the first term Ol 2

difference 1s 3, then

Sum of first ten tenns of the AP25. 811, s

4 P Pl N 2834/11850 =




An event that has no chance of
P rO ba bl I 'tl r ‘ occurring is called an Impossible

event, i.e. P(E) =

The orobability of sure ¢y ( l i
- ' . , -
‘ v ffswm uzn @ wigem ¥ 9

e evend






Rama borrowed Rs.14000 from her friend at 8% per annum simple
interest. She returned the money after 2 years. How much did she pay
back altogether?

- < 14000 3194 1

mmll  Find the simple interest on 2.500 for 2
{2,500 1 6% =fs = A 2 = 3R B: Wi =1 "R = 7w )

years and six months at 6% per annum. [2]
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ig. 17.20,ifPC=4cm,PD=(x+5)cm, PA=

and PB=(x+2)cm, find x.

PC xPD= PAXPB
4(I+S): Sx(lﬂ) AQC&SQ'X
47420-_3,4'6 —

ntersecting each other at a poll

AB and CD are two chords of a circle 1 + 2) cm, CP = x cm and

inside the circle. If AP = (x + 1) cm, BP = (x

DP = (x + 4) cm, then the value of x 18
S5 - m

4 P> Pl W 1S
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ﬁg)\f&: PC x PO

C ‘z+n)(z+.\) = ’:(('x-\,q)

S R —ayp =0

=3
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Tth: value of a property increases every year at the rate of 5%. If its value at the end
OF 3 years be ¥4,07 484, what was its original value at the beginning of these years?
2]

".?F-tiwhi:qmﬁnﬁmiS%EﬁtmﬁﬁﬁﬁilﬂfEJwismﬂmMmqm
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In what ratio is the line segment joining the points
(3,-5) and (-1,6) divided by the line y=x ?

If the point (1, ~2) lies on the line represented by the equation 2x -y = p, then
the value of p 1s

. X +=Pp
d_ D> Pl W) 4303/1:4340 . o -l 5 - —:@



02. A piece of wire 22 cm long is bart into the 1147

form of an arc of a circle subtending an angle of u
60’ at s contre. Find the radius of the circle.

= ° 4° <~6 i&’ 2R
N Gd
(,m(j}% o¥

Gn arc — If the perimeter of the sector pf a circle with radius 6 cm 1s 34 cm, then the

KA y= %R - 3‘2("’

angle of the sector 1s

i P Pl W) 113112/3:23:20 -
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T'he length of a tangent drawn to a circle
with radius 5 cm, from a point 13 ¢m from

the centre of the circle is

4 D> Pl N s030/1:21:10



~ sec?30° — tan® 30° s cosec? 60° — cot? 60°
_ cos? 30° sin® 60°




If tan A = 3 cot A, then the measure of the angle A 1s :

s
FOUNDATIO

(A) 15° (B)
(C) 45°




Sum of two numbers 1s 105 and their difference 1s 45. Find the

numbers.

Sl AT BT IAMTES 105 & AUT IAHT 37T 45 2 ) HEAT FATd I |




Given HCF (2520. 6600) = 40, LCM (2520, 6600) = 252 x k. then the value
of k 18

(&) 1650 (B) 1600
(C) 165 (D) 1625

H-C-F- xte™M- — QA xhp

Uesef




(sec O + tan 0) (1 —sin 0) 1s equal to :

(A) secH (B) sin6

(C) cosecH (57 cos O




[f the area of a sector is one-twelfth that of a complete circle,

then the angle of the sector is:

(A) 36° (B) 30°
(C) 60° (D) 45°




Q. Find the area of a sector (in cm?) subtending an angle of
d 90 degieesat the centre of a circle of radius 10 cm.

A. 251 B. 50m C. 100n D. 75n




The sum of the first three terms of an AP is 30 and the sum of 0 +3d = BO

the last three terms 1s 36. If the first term 18 9, then the

number of terms is : : 3(Q 4 d) A @)

(C) 6

(A) 10 (BY | W R [
_ | Q+d = \Oj{>
| ‘/‘




In the given figure, if PT 18 a tangent to a circle with centre O and

& FOUNDATION 4

ZTPO = 35° then the measure of Zx1s8:




Calculate the mean of the following data :




gfe gT< U&ol x. x + 2. x + 4. \+()T‘F&ﬂ\+h3ﬂm¥l‘111? AxFIAHE

OO @ & X

If the mean of five observations x, x + 2. x+ 4. x+6and x+ 81s 11, ther

the value of x 18 :

(A) 4
(C) 11
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